1
o
W

—EZXRE —ZETRF
K et BT T BT
BEERERE
ERBEE
Mz -~ WE R& 16 28,392 78,232
=+ 3 5 A A2 17 888 930
REERFRZIKE 18 86 =
29,366 79,162
MEEE
BE 20 34,908 =
=+ 3 50 A AE 17 58 58
JE 5 BR R K L At JE W IR 21 13,251 10,097
BRERAZRK 38 15,281 6,914
Re RBITHEH 1,038 812
64,536 17,881
nEBE
WITREMEE 22 5,633 16,059
JE {1 BR 3R I L th & {9 5008 23 13,321 17,864
QS 24 7,500 =
REMEIER R B 2 5/ IE 25 25,692 10,082
REBE@ERRZFIA 38 6,241 7,516
REZZHIE 39 920 649
P 1E A 84 =
59,391 52,170
REBEE(AE) FE 5,145 (34,289)
HBEERRBER 34,511 44,873



m:z
—2EXEF —2TIHF
k=3 BETT BT T
*kRBEE
BITREMEE 22 - 100,490
O EE 24 22,500 -
22,500 100,490
BE/ (86 38 12,011 (55,617)
BEXREE
N 27 33,634 9,717
{5 8 28 (21,623) (65,334)
ERBE(BREH) 12,011 (55,617)
BREHE 7
BF Bt

FI0EGTRZHERERLERFRR 2 — 8D -

ATKEERRRQFA
25 2 0 0 6 % %





